Replacement Parts Diagrams
MDF Long Reach Air Tools

MDF35

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 29



Long Reach Air Tool Assembly
Model MDF15

A WARNING A WARNING A WARNING
“u e e EYE AND EAR@ ;{ﬁzssu‘? r‘;cri\;

i roficnovd
{GenenalyVs
] LIONE] TOAL |

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 30




Long Reach Air Tool Assembly

Model MDF15
Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF15-0010 Retainer, Tool 1
2 MDF15-0020 Bushing, Retaining 1
3 MDF15-0040 Deflector, Air 1
4 MDF15-0050 Bushing, Tool Receiver 1
5 MDF15-0030 “O” Ring 1
6 MDF15-0060 Cylinder 1
7 MDF15-0070 Pin, Alignment 2
8 MDF15-0080 Nut, Jam 1
9 MDF15-0090 Piston 1
10 MDF15-0140 Valve, Distribution 1
11 MDF15-0100 Disc, Valve Distribution 1
12 MDF15-0120 Disc 1
13 MDF15-0110 Cover, Distribution Valve 1
14 MDF15-0130 Gauge, Distribution 1
15 MDF15-0150 Head, Cylinder 1
16 MDF15-0160 Tube, Extension 1
17 MDF15-0200 Grip, Handle 2
18 MDF15-0210 Guard, Throttle Control Lever 1
19 MDF15-0220 Screw, Set, Socket Head 2
20 MDF15-0230 Lever, Throttle Control 1
21 MDF15-0240 Pin, Roll 1
22 MDF15-0250 Housing, Throttle Control Valve 1
23 MDF15-0260 “O” Ring 1
24 MDF15-0270 “O” Ring 1
25 MDF15-0300 Spool, Valve 1
26 MDF15-0290 Spring 1
27 MDF15-0280 Plug 1
28 MDF15-0310 Adapter 1
29 MDF15-0320 Hose, Air, Wire Reinforced 1
30 SG24-5070 Decal, Assistance 1
31 MDF-5050 Decal, Warning 1
32 SP8-5040 Decal, Warning 1
33 MDF-5040 Decal, Warning 1
34 SP8-5010 Decal, General 1

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 31




Long Reach Air Tool Assembly
Model MDF35

"A_‘WARNING AWARNING AW

[AWARNING |
- EYE AND EAR £ A3

% PROTECTION

. REQUIRED

WE
T S TCC.
LAY \
FagFS 452
ANZICE N AL
uiis a] s 1N 3

GeneralyVi)s

]
= -] [GRT® GTEAER AR TEOL |

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 32




Long Reach Air Tool Assembly

Model MDF35
Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF35-0010 Retainer, Tool 1
2 MDF35-0020 Bushing, Retaining 1
3 MDF35-0030 Head Plug, Friction 1
4 MDF35-0040 Bushing, Tool Receiver 1
5 MDF35-0050 Deflector, Air 1
6 MDF35-0060 Cylinder 1
7 MDF35-0070 Pin, Alignment 2
8 MDF35-0080 Piston 1
9 MDF35-0090 Valve, Distribution 1
10 MDF35-0100 Disc, Distribution Valve 1
11 MDF35-0110 Cover, Distribution Valve 1
12 MDF35-0120 Disc 1
13 MDF35-0130 Gauge, Distribution 1
14 MDF35-0140 Pin, Alignment 1
15 MDF35-0150 Head, Cylinder 1
16 MDF35-0160 Tube, Extension 1
17 MDF15-0200 Grip, Handle 2
18 MDF15-0210 Guard, Throttle Control Lever 1
19 MDF15-0220 Screw, Set, Socket Head 2
20 MDF15-0230 Lever, Throttle Control 1
21 MDF15-0240 Pin, Roll 1
22 MDF15-0250 Housing, Throttle Control Valve 1
23 MDF15-0260 “O” Ring 1
24 MDF15-0270 “O” Ring 1
25 MDF15-0280 Spool, Valve 1
26 MDF15-0290 Spring 1
27 MDF15-0300 Plug 1
28 MDF15-0310 Adapter 1
29 MDF15-0320 Hose, Air, Wire Reinforced 1
30 SG24-5070 Decal, Assistance 1
31 MDF-5050 Decal, Warning 1
32 SP8-5040 Decal, Warning 1
33 MDF-5040 Decal, Warning 1
34 MDF-5010 Decal, General 1

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 33




Accessory Tool Diagrams
For Use With MDF15 Long Reach Air Tool

.371 Inch Across Hexagon Flats —)@-«—

Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF15-1100 Moilpoint, .371 Inch Hexagon 1
2 MDF15-1200 1 Inch Chisel, .371 Inch Hexagon 1
3 MDF15-1300 2 Inch Chisel, .371 Inch Hexagon 1
4 MDF15-1400 4 Inch Chisel, .371 Inch Hexagon 1

Consult The Application Chart In This Manual For Specific Application Information.

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 34



Accessory Tool Diagrams
For Use With MDF35 Long Reach Air Tool

.580 Inch Across Hexagon Flats —)—@-«

| —

Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF35-1100 Moilpoint, .580 Inch Hexagon 1
2 MDF35-1200 1 Inch Chisel, .580 Inch Hexagon 1
3 MDF35-1300 2 Inch Chisel, .580 Inch Hexagon 1
4 MDF35-1400 4 Inch Chisel, .580 Inch Hexagon 1

Consult The Application Chart In This Manual For Specific Application Information.

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 35



Accessory Tool Diagrams
For Use With MDF35 Long Reach Air Tool

i
.580 Inch Across Hexagon Flats — () —

Referance PART
Number NUMBER DESCRIPTION QTY
1 MDF35-1501 Scraper Blade Holder (Less Blades) 1
2 16080000 Washer, Lock, 1/2”, Plated 4
3 15080800 Screw, Cap, 1/2” x 1" UNC, Grade 8, Plated 4
4 MDF35-1600 Blade, Scraper, 5/1-2" Wide 1
5 MDF35-1610 Blade, Scraper, 8” Wide 1
6 MDF35-1620 Blade, Scraper, 12" Wide 1

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 36



Air Caddy Asembly
Model MDF-1000

Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF-1000-010 Frame, Air Caddy 1
2 EP8-0140 Mount, Rubber 4
3 MDF-1000-020 Filter, Air 1
4 MDF-1000-030 Regulator, Air 1
5 MDF-1000-040 Oiler, Air 1
6 18040000 Nut, Hex, 1/4”, Plated 4
7 16040000 Washer, Lock, 1/4”, Plated 4
8 15040700 Screw, Cap, 1/4-20 x 7/8" UNC, Plated 4
9 30040200 Screw, Set, Oval, 1/4-28 x 1/4 UNF 4
10 EP8HL-0120 Pipe, Nipple, 1/2” NPT x 3" 2
11 MDF-1000-050 Pipe, Nipple, Close, 1/2" NPT 2
MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 37



Display Stand Assembly
MDF Series Air Tools

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 38



Display Stand Assembly
MDF Series Air Tools

Reference PART
Number NUMBER DESCRIPTION QTY
1 MDF-1100-0110 Leg, Stand 2
2 MDF-1100-0230 Leg, Stand, Lower 2
3 MDF-1100-0140 Base (LH) 1
4 MDF-1100-0130 Base (RH) 1
5 MDF-1100-0150 Plate, Base 2
6 MDF-1100-0100 Tray, Tool Box 2
7 MDF-1100-0180 Strap, Support 4
8 MDF-1100-0160 Tube Weldment 1
9 660-0560 Tie, Nylon, 6” Long 2
10 MDF-1100-0170 Rod, Sign 1
11 MDF-1100-0190 Sign, Display Stand 1
12 52040000 Nut, Hex, 2-Way Lock, 1/4” UNC, Plated 26
13 15040500 Screw, Cap, 1/4” x 5/8” UNC, Grade 5, Plated 4
14 15041200 Screw, Cap, 1/4” x 1-1/2" UNC, Grade 5, Plated 18
15 MDF-1000-0220 Lanyard, Plastic 2
16 MDF-1100-0210 Ring, Split 2
17 MDF-1100-0200 Pin, Detent, 5/16" x 3-1/8” 2
18 15042000 Screw, Cap, 1/4” x 2-1/2" UNC, Grade 5, Plated 4
19 FP-164 Cap, Plug, 1" Square 6

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 39



MDF Long Reach Air Tool

Accessory Tool Application Chart

ACCESSORY TOOL
PART NUMBER AND
DESCRIPTION

OVERHEAD
OR ABOVE
WAIST
COATINGS

GENERAL
CONCRETE
REMOVAL

FLOOR
COATINGS
REMOVAL

MATERIAL
BUILD-UP
REMOVAL

MASTIC OR
ADHESIVE
REMOVAL

FLOOR TILE
REMOVAL

REMOVAL

MDF15-1100
Moilpoint

MDF15-1200
1 Inch Chisel

MDF15-1300
2 Inch Chisel

MDF15-1400
4 Inch Chisel

MDF35-1100
Moilpoint

MDF35-1200
1 Inch Chisel

MDF35-1300
2 Inch Chisel

MDF35-1400
4 Inch Chisel

MDF35-1500
Scraper Blade
Holder With
Appropriate Blade

Limited performance or productivity
rates for most applications.

Acceptable performance or productivity
rates for most job applications.

Preferred method to produce maximum
® performance or productivity rates for
most job applications.

Information depicted is not intended for specific application
purposes. Performance or productivity rates for any accessory
tool are not guaranteed for any specific job application. Contact
our Customer Service Department for specific application
assistance. There is no charge for this service.

MDF SERIES LONG REACH AIR TOOLS FORM GOM6019801, VERSION 1.0, AUTHORIZATION: DVR, PAGE: 40





